This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 12 - Perth City Centre

5,257

4

1,052

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Chris AHERN	Scottish Conservative and Unionist	1,005
Peter Anthony BARRETT	Scottish Liberal Democrats	1,038
Eric DRYSDALE	Scottish National Party (SNP)	1,445
Scott FORSYTH	Scottish Labour Party	435
Sandy MILLER	Alba Party for Independence	48
Andrew PARROTT	Scottish National Party (SNP)	655
Susannah RAE	Scottish Green Party	268
Ian THOMSON	Independent	64
Nick TULLOCH	Scottish Conservative and Unionist	299
	Total	5,257

Candidate Eric DRYSDALE Elected with 1,445 votes, being in excess of the quota of 1,052

This report contains the transfers results.

Stage 2 - Surplus of Eric DRYSDALE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris AHERN	12	0.27197	3.26364
Transfer to Peter Anthony BARRETT	50	0.27197	13.59850
Transfer to Scott FORSYTH	53	0.27197	14.41441
Transfer to Sandy MILLER	21	0.27197	5.71137
Transfer to Andrew PARROTT	1,193	0.27197	324.46021
Transfer to Susannah RAE	53	0.27197	14.41441
Transfer to Ian THOMSON	9	0.27197	2.44773
No further preference	52	0.27197	14.14244
Not transferred due to rounding			0.00335
	Total		393.00000

This report contains the transfers results.

Stage 3 - Exclusion of Sandy MILLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris AHERN	1	1.00000	1.00000
Transfer to Peter Anthony BARRETT	4	1.00000	4.00000
Transfer to Scott FORSYTH	4	1.00000	4.00000
Transfer to Andrew PARROTT	24	1.00000	24.00000
Transfer to Susannah RAE	2	1.00000	2.00000
Transfer to Ian THOMSON	8	1.00000	8.00000
Transfer to Peter Anthony BARRETT	3	0.27197	0.81591
Transfer to Scott FORSYTH	2	0.27197	0.54394
Transfer to Andrew PARROTT	11	0.27197	2.99167
Transfer to Susannah RAE	2	0.27197	0.54394
No further preference	5	1.00000	5.00000
No further preference	3	0.27197	0.81591
Not transferred due to rounding			0.00000
	Total		53.71137

This report contains the transfers results.

Stage 4 - Surplus of Peter Anthony BARRETT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
No further preference	184	0.00417	0.76728
No further preference	11	0.00113	0.01243
Not transferred due to rounding			0.00938
	Total		4.41441

This report contains the transfers results.

Stage 5 - Exclusion of Ian THOMSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris AHERN	16	1.00000	16.00000
Transfer to Scott FORSYTH	17	1.00000	17.00000
Transfer to Andrew PARROTT	6	1.00000	6.00000
Transfer to Susannah RAE	8	1.00000	8.00000
Transfer to Nick TULLOCH	6	1.00000	6.00000
Transfer to Scott FORSYTH	1	0.27197	0.27197
Transfer to Andrew PARROTT	3	0.27197	0.81591
Transfer to Susannah RAE	3	0.27197	0.81591
Transfer to Chris AHERN	8	0.00417	0.03336
Transfer to Scott FORSYTH	17	0.00417	0.07089
Transfer to Susannah RAE	6	0.00417	0.02502
Transfer to Nick TULLOCH	5	0.00417	0.02085
No further preference	19	1.00000	19.00000
No further preference	2	0.27197	0.54394
No further preference	26	0.00417	0.10842
No further preference	1	0.00113	0.00113
Not transferred due to rounding			0.00000
	Total		74.70740

This report contains the transfers results.

Stage 6 - Exclusion of Susannah RAE

294.34851

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris AHERN	11	1.00000	11.00000
Transfer to Scott FORSYTH	69	1.00000	69.00000
Transfer to Andrew PARROTT	152	1.00000	152.00000
Transfer to Nick TULLOCH	7	1.00000	7.00000
Transfer to Chris AHERN	1	0.27197	0.27197
Transfer to Scott FORSYTH	6	0.27197	1.63182
Transfer to Andrew PARROTT	31	0.27197	8.43107
Transfer to Chris AHERN	7	0.00417	0.02919
Transfer to Scott FORSYTH	39	0.00417	0.16263
Transfer to Andrew PARROTT	20	0.00417	0.08340
Transfer to Nick TULLOCH	6	0.00417	0.02502
Transfer to Chris AHERN	1	0.00113	0.00113
Transfer to Scott FORSYTH	3	0.00113	0.00339
Transfer to Andrew PARROTT	4	0.00113	0.00452
No further preference	39	1.00000	39.00000
No further preference	20	0.27197	5.43940
No further preference	63	0.00417	0.26271
No further preference	2	0.00113	0.00226
Not transferred due to rounding			0.00000
	+		00404054

Total 294.34851

This report contains the transfers results.

Stage 7 - Surplus of Andrew PARROTT

122.35834

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris AHERN	35	0.10419	3.64665
Transfer to Scott FORSYTH	246	0.10419	25.63074
Transfer to Nick TULLOCH	11	0.10419	1.14609
Transfer to Chris AHERN	46	0.02833	1.30318
Transfer to Scott FORSYTH	280	0.02833	7.93240
Transfer to Nick TULLOCH	15	0.02833	0.42495
Transfer to Chris AHERN	10	0.00043	0.00430
Transfer to Scott FORSYTH	43	0.00043	0.01849
Transfer to Nick TULLOCH	2	0.00043	0.00086
Transfer to Scott FORSYTH	5	0.00011	0.00055
Transfer to Nick TULLOCH	2	0.00011	0.00022
No further preference	545	0.10419	56.78355
No further preference	897	0.02833	25.41201
No further preference	98	0.00043	0.04214
No further preference	12	0.00011	0.00132
Not transferred due to rounding			0.01089
	Total		122.35834

This report contains the transfers results.

Stage 8 - Exclusion of Nick TULLOCH

314.49136

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Chris AHERN	284	1.00000	284.00000
Transfer to Scott FORSYTH	5	1.00000	5.00000
Transfer to Chris AHERN	1	0.27197	0.27197
Transfer to Chris AHERN	7	0.10419	0.72933
Transfer to Scott FORSYTH	1	0.10419	0.10419
Transfer to Chris AHERN	10	0.02833	0.28330
Transfer to Scott FORSYTH	2	0.02833	0.05666
Transfer to Chris AHERN	57	0.00417	0.23769
Transfer to Scott FORSYTH	8	0.00417	0.03336
Transfer to Chris AHERN	2	0.00043	0.00086
Transfer to Scott FORSYTH	1	0.00011	0.00011
No further preference	23	1.00000	23.00000
No further preference	1	0.27197	0.27197
No further preference	3	0.10419	0.31257
No further preference	3	0.02833	0.08499
No further preference	25	0.00417	0.10425
No further preference	1	0.00011	0.00011
Not transferred due to rounding			0.00000
	Total		314.49136